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3+ ”strong=”6428|���������������������� x-morph=”OSHM:HVtv2fs” x-

cantillationLevel=”0”
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place where we agree with BHQ against
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x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.1.0” strong=”6213|��/���������
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4Q
5n Marks an anomalous form.
6p We read punctuation in L differently from BHS.
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x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”2005|����/���� x-
morph=”OSHM:HTm/Sp1cs” ”strong=”2803|�������
x-morph=”OSHM:HVqrmsa” x-
cantillationLevel=”1.0.0” strong=”5921|���
a” x-morph=”OSHM:HR”�������������/���|strong=”d/4940”
x-morph=”OSHM:HTd/Ncfsa”
”strong=”d/2063|������/�� x-
morph=”OSHM:HTd/Pdxfs” x-
cantillationLevel=”1.0” strong=”7451|������
c” x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-
cantillationLevel=”0.1.1.1” ”strong=”3808|����
x-morph=”OSHM:HTn”�����������|strong=”4185”
x-morph=”OSHM:HVhi2mp” ”strong=”m/8033|������/��
x-morph=”OSHM:HR/D” x-cantillationLevel=”0.1.1.0”
strong=”6677|����/������������

a” x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”0.1.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”3212|���������
x-morph=”OSHM:HVqi2mp” x-
cantillationLevel=”0.1.0” ”strong=”7317|�������
x-morph=”OSHM:HD” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-
morph=”OSHM:HC” x-cantillationLevel=”0.0.0”
”strong=”6256|���� x-morph=”OSHM:HNcbsa”
strong=”7451|������ c” x-
morph=”OSHM:HAafsa” x-cantillationLevel=”0.0”
”strong=”1931|����� x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”0”� 4
”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/1931|�����/�� x-
morph=”OSHM:HTd/Pp3ms” x-
cantillationLevel=”1.1.2.0” ”strong=”5375|��������
x-morph=”OSHM:HVqi3ms” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp2mp”
”strong=”4912|������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1.2” ”strong=”c/5091|������/��
x-morph=”OSHM:HC/Vqq3ms”
”strong=”5092|������ x-morph=”OSHM:HNcmsa”
”strong=”5093|��������� x-
morph=”OSHM:HVNp3ms” x-
cantillationLevel=”1.1.1” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”1.1.0” ”strong=”7703|��������
x-morph=”OSHM:HVqa” ”strong=”7703|������������
x-morph=”OSHM:HVNp1cp” x-
cantillationLevel=”1.1” strong=”2506|������
a” x-morph=”OSHM:HNcmsc”
strong=”5971|�/������ a” x-
morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.0” ”strong=”4171|�������
x-morph=”OSHM:HVhi3ms” x-
cantillationLevel=”1” strong=”349|������
a” x-morph=”OSHM:HTi” x-
cantillationLevel=”0.1.0” ”strong=”4185|��������
x-morph=”OSHM:HVhi3ms” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0.1” ”strong=”l/7728|��������/��
x-morph=”OSHM:HR/Aamsa”
strong=”7704|���/������� b” x-
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morph=”OSHM:HNcmpc/Sp1cp” x-
cantillationLevel=”0.0” strong=”2505|���������
a” x-morph=”OSHM:HVpi3ms”
x-cantillationLevel=”0”� 5
strong=”l/3651|����/�� c” x-
morph=”OSHM:HR/D” x-cantillationLevel=”1.1.0”
”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”1961”
x-morph=”OSHM:HVqi3ms” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”1.1” ”strong=”7993|�����������
x-morph=”OSHM:HVhrmsa” strong=”2256|������
a” x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”1.0” ”strong=”b/1486|�������/���
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”1” ”strong=”b/6951|������/���
x-morph=”OSHM:HR/Ncmsc” x-
cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
6 ”strong=”408|��� x-morph=”OSHM:HTn”�����������|strong=”5197”
x-morph=”OSHM:HVhj2mp” x-
cantillationLevel=”1.0” ”strong=”5197|�/����������
x-morph=”OSHM:HVhi3mp/Sn” x-
cantillationLevel=”1” ”strong=”3808|����
x-morph=”OSHM:HTn”����������|strong=”5197”
x-morph=”OSHM:HVhi3mp” ”strong=”l/428|�������/��
x-morph=”OSHM:HR/Pdxcp” x-
cantillationLevel=”0.1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”5253|�������
x-morph=”OSHM:HVNi3ms” x-
cantillationLevel=”0.0” ”strong=”3639|�����������
x-morph=”OSHM:HNcfpa” x-
cantillationLevel=”0”� 7 ”strong=”i/559|�������/��
x-morph=”OSHM:HTi/Vqsmsa”
strong=”1004|������ b” x-
morph=”OSHM:HNcmsc”���������|strong=”3290”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
strong=”i/7114|������/�� a”
x-morph=”OSHM:HTi/Vqp3ms” x-
cantillationLevel=”1.1.0” ”strong=”7307|������
x-morph=”OSHM:HNcbsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”518|��� a” x-morph=”OSHM:HC”��������|strong=”428”
x-morph=”OSHM:HPdxcp” x-
cantillationLevel=”1.0” ”strong=”4611|�/����������
x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1” ”strong=”i/3808|�����/��

x-morph=”OSHM:HTi/Tn” ”strong=”1697|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”3190|����������
x-morph=”OSHM:HVhi3mp” x-
cantillationLevel=”0.1” strong=”5973|����
a” x-morph=”OSHM:HR” x-
cantillationLevel=”0.0” ”strong=”d/3477|��������/��
x-morph=”OSHM:HTd/Aamsa”
”strong=”1980|�������� x-
morph=”OSHM:HVqrmsa” x-
cantillationLevel=”0”� 8 ”strong=”c/865|���������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.2.1”
strong=”5971|��/����� a” x-
morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.2.0” ”strong=”l/341|�������/��
x-morph=”OSHM:HR/Vqrmsa”
strong=”6965|��������� b”
x-morph=”OSHM:HVoi3ms” x-
cantillationLevel=”1.2” ”strong=”m/4136|������/��
x-morph=”OSHM:HR/R” ”strong=”8008|���������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.1” ”strong=”145|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” ”strong=”6584|�/������������
x-morph=”OSHM:HVhi2mp/Sn” x-
cantillationLevel=”1” strong=”m/5674|���������/��
a” x-morph=”OSHM:HR/Vqrmpa”
”strong=”983|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”7725|��������
x-morph=”OSHM:HVqsmpc” x-
cantillationLevel=”0.0” ”strong=”4421|����������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0”� 9 ”strong=”802|�������
x-morph=”OSHM:HNcfpc” strong=”5971|��/�����
a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.1.0” ”strong=”1644|�/�������������
x-morph=”OSHM:HVpi2mp/Sn” x-
cantillationLevel=”1.1” strong=”m/1004|������/��
b” x-morph=”OSHM:HR/Ncmsc” x-
cantillationLevel=”1.0” ”strong=”8588|��/������������
x-morph=”OSHM:HNcmpc/Sp3fs” x-
cantillationLevel=”1” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” x-
cantillationLevel=”0.1.0” ”strong=”5768|��/���������
x-morph=”OSHM:HNcmpc/Sp3fs” x-
cantillationLevel=”0.1” ”strong=”3947|���������
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x-morph=”OSHM:HVqi2mp” ”strong=”1926|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”l/5769|�������/��
x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0”� 10
strong=”6965|������� b” x-
morph=”OSHM:HVqv2mp” ”strong=”c/3212|������/��
x-morph=”OSHM:HC/Vqv2mp” x-
cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3808|���
x-morph=”OSHM:HTn”������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-
cantillationLevel=”1.0” ”strong=”d/4496|����������/��
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”1” ”strong=”b/5668|�������/���
x-morph=”OSHM:HR/Ncmsc”
strong=”2930|�������� b”
x-morph=”OSHM:HVqp3fs” x-
cantillationLevel=”0.0.0” strong=”2254|����������
b” x-morph=”OSHM:HVpi3fs” x-
cantillationLevel=”0.0” strong=”c/2256|������/��
d” x-morph=”OSHM:HC/Ncmsa”
”strong=”4834|�������� x-
morph=”OSHM:HVNsmsa” x-
cantillationLevel=”0”� 11 ”strong=”3863|���
x-morph=”OSHM:HC”�������|strong=”376”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.2.0.0” ”strong=”1980|�������
x-morph=”OSHM:HVqrmsc” ”strong=”7307|�������
x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”1.2.0” ”strong=”c/8267|�������/��
x-morph=”OSHM:HC/Ncmsa” ”strong=”3576|��������
x-morph=”OSHM:HVpp3ms” x-
cantillationLevel=”1.2” ”strong=”5197|�������
x-morph=”OSHM:HVhi1cs” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”1.1” ”strong=”l/3196|�������/��
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”c/l/7941|��������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3ms”
”strong=”5197|�������� x-morph=”OSHM:HVhrmsc”
x-cantillationLevel=”0.0” strong=”d/5971|����/��
a” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-

morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”�
12 ”strong=”622|������ x-morph=”OSHM:HVqa”
”strong=”622|�������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”1.1.1.0” ”strong=”3290|��������
x-morph=”OSHM:HNp” ”strong=”3605|��/�������
x-morph=”OSHM:HNcmsc/Sp2fs” x-
cantillationLevel=”1.1.1” ”strong=”6908|�������
x-morph=”OSHM:HVpa” ”strong=”6908|���������
x-morph=”OSHM:HVpi1cs” x-cantillationLevel=”1.1.0”
”strong=”7611|���������� x-
morph=”OSHM:HNcfsc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”3162|������ a” x-morph=”OSHM:HD”
strong=”7760|����/���������
a” x-morph=”OSHM:HVqi1cs/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”k/6629|�����/���
x-morph=”OSHM:HR/Ncbsa” ”strong=”1223|���������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
”strong=”k/5739|�������/��� x-
morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”b/8432|������/��� x-
morph=”OSHM:HR/Ncmsc” strong=”d/1699|��/��������/��
a” x-morph=”OSHM:HTd/Ncmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”1949|������������
x-morph=”OSHM:HVhi3fp” x-cantillationLevel=”0.0”
”strong=”m/120|������/�� x-
morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”�
13 ”strong=”5927|������ x-morph=”OSHM:HVqp3ms”
”strong=”d/6555|�������/�� x-
morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.2.0”
”strong=”l/6440|����/�����/��
x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”1.2” ”strong=”6555|����������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.1.0”
strong=”c/5674|�����������/���
a” x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.1” ”strong=”8179|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”c/3318|���������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”b|��/��
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1”
strong=”c/5674|���������/��
a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”4428|��/������� x-
morph=”OSHM:HNcmsc/Sp3mp” x-
cantillationLevel=”0.1.0” ”strong=”l/6440|����/�����/��



CONTENTS 11

x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”c/3068|������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
strong=”b/7218|�/�������/���
a” x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0”� �

3 ”strong=”c/559|������/��
x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.1.1”

”strong=”8085|�������� x-
morph=”OSHM:HVqv2mp”�����|strong=”4994”
x-morph=”OSHM:HTe” x-cantillationLevel=”1.1.0”
strong=”7218|�������� a” x-
morph=”OSHM:HNcmpc” ”strong=”3290|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/7101|���������/��
x-morph=”OSHM:HC/Ncmpc” x-
cantillationLevel=”1.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”i/3808|�����/�� x-
morph=”OSHM:HTi/Tn” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-
cantillationLevel=”0.1” ”strong=”l/3045|������/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0.0” ”strong=”853|���
x-morph=”OSHM:HTo”�����������/���|strong=”d/4941”
x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 2
”strong=”8130|��������� x-
morph=”OSHM:HVqrmpc” strong=”2896|�����
b” x-morph=”OSHM:HAamsa” x-
cantillationLevel=”1.0” ”strong=”c/157|��������/��
x-morph=”OSHM:HC/Vqrmpc”
strong=”7451|��� b” x-morph=”OSHM:HAafsa”
x-wType=”x-ketiv” 7 ”strong=”1497|���������
x-morph=”OSHM:HVqrmpc” ”strong=”5785|��/�����
x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0.1.0” strong=”m/5921|����/�����/���
a” x-morph=”OSHM:HR/R/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”c/7607|�/��������/��
x-morph=”OSHM:HC/Ncmsc/Sp3mp”
x-cantillationLevel=”0.0” strong=”m/5921|����/��

a” x-morph=”OSHM:HR/R” ”strong=”6106|�/����������
x-morph=”OSHM:HNcfpc/Sp3mp”
x-cantillationLevel=”0”� 3
strong=”c/834|�������/��
a” x-morph=”OSHM:HC/Tr”
”strong=”398|�������� x-
morph=”OSHM:HVqp3cp” x-
cantillationLevel=”1.2.0” ”strong=”7607|�������
x-morph=”OSHM:HNcmsc” strong=”5971|��/�����
a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.2” ”strong=”c/5785|��/�����/��
x-morph=”OSHM:HC/Ncmsc/Sp3mp”
x-cantillationLevel=”1.1.0” strong=”m/5921|����/�����/��
a” x-morph=”OSHM:HR/R/Sp3mp”
”strong=”6584|������������
x-morph=”OSHM:HVhp3cp” x-
cantillationLevel=”1.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”����/�����������|strong=”6106”
x-morph=”OSHM:HNcfpc/Sp3mp” x-
cantillationLevel=”1.0” ”strong=”6476|����������
x-morph=”OSHM:HVpp3cp” x-
cantillationLevel=”1” ”strong=”c/6566|���������/��
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”0.1.0” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr”
strong=”b/5518|������/��� a”
x-morph=”OSHM:HRd/Ncbsa” x-
cantillationLevel=”0.1” ”strong=”c/k/1320|�������/��/��
x-morph=”OSHM:HC/R/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”b/8432|������/���
x-morph=”OSHM:HR/Ncmsc”
”strong=”7037|���������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0”� 4 strong=”227|����
a” x-morph=”OSHM:HD” x-
cantillationLevel=”1.1.0” ”strong=”2199|����������
x-morph=”OSHM:HVqi3mp” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/3808|����/�� x-
morph=”OSHM:HC/Tn” strong=”6030|��������
b” x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”1.0” ”strong=”853|�/������
x-morph=”OSHM:HTo/Sp3mp” x-

7+ strong=”7451|������� b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1”
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cantillationLevel=”1” ”strong=”c/5641|���������/��
x-morph=”OSHM:HC/Vhi3ms”
”strong=”6440|�/������� x-
morph=”OSHM:HNcbpc/Sp3ms”
”strong=”m|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”b/6256|����/���
x-morph=”OSHM:HRd/Ncbsa”
”strong=”d/1931|�����/�� x-
morph=”OSHM:HTd/Pp3fs” x-
cantillationLevel=”0.1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr”
strong=”7489|�������� a”
x-morph=”OSHM:HVhp3cp” x-
cantillationLevel=”0.0” ”strong=”4611|����/���������
x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0”� � 5
”strong=”3541|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.1.0” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”5921|��� a” x-morph=”OSHM:HR”�����������/���|strong=”d/5030”
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.0” ”strong=”d/8582|����������/��
x-morph=”OSHM:HTd/Vhrmpa”
”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” strong=”d/5391|�����������/��
a” x-morph=”OSHM:HTd/Vqrmpa”
”strong=”b/8127|����/�������/���
x-morph=”OSHM:HR/Ncbdc/Sp3mp”
x-cantillationLevel=”0.2.0” ”strong=”c/7121|��������/��
x-morph=”OSHM:HC/Vqq3cp”
”strong=”7965|�������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.2” strong=”c/834|�������/��
a” x-morph=”OSHM:HC/Tr” x-
cantillationLevel=”0.1.0” ”strong=”3808|���
x-morph=”OSHM:HTn”��������|strong=”5414”
x-morph=”OSHM:HVqi3ms” strong=”5921|���
a” x-morph=”OSHM:HR”����/�����|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”c/6942|����������/��
x-morph=”OSHM:HC/Vpq3cp”
strong=”5921|�/������ a” x-

morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”4421|����������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0”� 6 strong=”l/3651|����/��
c” x-morph=”OSHM:HR/D” x-
cantillationLevel=”1.1.0.0” ”strong=”3915|��������
x-morph=”OSHM:HNcmsa” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-
cantillationLevel=”1.1.0” ”strong=”m/2377|�������/���
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”c/2821|���������/��
x-morph=”OSHM:HC/Vqq3fs”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.0” ”strong=”m/7080|�������/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”1” ”strong=”c/935|������/��
x-morph=”OSHM:HC/Vqq3fs”
”strong=”d/8121|����������/��
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”0.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�����������/���|strong=”d/5030”
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0.1” ”strong=”c/6937|������/��
x-morph=”OSHM:HC/Vqq3ms”
strong=”5921|����/����� a”
x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”0.0” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 7
”strong=”c/954|�������/�� x-
morph=”OSHM:HC/Vqq3cp” 8
We read one or more accents
in L differently from BHQ.
”strong=”d/2374|�������/�� x-
morph=”OSHM:HTd/Vqrmpa” x-
cantillationLevel=”1.1.1” ”strong=”c/2659|���������/��
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”1.1.0” ”strong=”d/7080|�����������/��
x-morph=”OSHM:HTd/Vqrmpa” x-
cantillationLevel=”1.1” strong=”c/5844|������/��
a” x-morph=”OSHM:HC/Vqq3cp”
strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”8222”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” ”strong=”3605|�/�������

8C
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x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.0.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”4617|��������
x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”0.0” ”strong=”430|���������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”0”� 8 ”strong=”c/199|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.1.1”
”strong=”595|�������� x-
morph=”OSHM:HPp1cs” x-cantillationLevel=”1.1.0.0”
”strong=”4390|��������� x-
morph=”OSHM:HVqp1cs” strong=”3581|������
b” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������|strong=”7307”
x-morph=”OSHM:HNcbsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/4941|����������/��
x-morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”c/1369|���������/��
x-morph=”OSHM:HC/Ncfsa” x-
cantillationLevel=”1” ”strong=”l/5046|��������/��
x-morph=”OSHM:HR/Vhc” ”strong=”l/3290|���������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.1.0” ”strong=”6588|��/��������
x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”c/l/3478|�����������/��/��
x-morph=”OSHM:HC/R/Np” x-
cantillationLevel=”0.0” strong=”2403|��/��������
b” x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0”� � 9
”strong=”8085|�������� x-
morph=”OSHM:HVqv2mp”�����|strong=”4994”
x-morph=”OSHM:HTe” ”strong=”2063|�����
x-morph=”OSHM:HPdxfs” x-
cantillationLevel=”1.1.1” strong=”7218|��������
a” x-morph=”OSHM:HNcmpc” x-
cantillationLevel=”1.1.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” ”strong=”3290|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/7101|���������/��
x-morph=”OSHM:HC/Ncmpc” x-
cantillationLevel=”1.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” ”strong=”3478|�����������

x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”d/8581|�����������/���
x-morph=”OSHM:HTd/Vprmpa”
”strong=”4941|���������� x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”���������/���|strong=”d/3477”
x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”0.0”
”strong=”6140|������������ x-
morph=”OSHM:HVpi3mp” x-cantillationLevel=”0”�
10 ”strong=”1129|������� x-morph=”OSHM:HVqrmsa”
”strong=”6726|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”b/1818|�������/���
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1”
”strong=”c/3389|������������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
strong=”b/5766|��������/���
b” x-morph=”OSHM:HR/Ncbsa” x-
cantillationLevel=”0”� 11 strong=”7218|��/��������
a” x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”1.1.1.0” � ”strong=”b/7810|�������/���
x-morph=”OSHM:HR/Ncmsa” ”strong=”8199|������������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.1.1”
”strong=”c/3548|���/��������/��
x-morph=”OSHM:HC/Ncmpc/Sp3fs”
x-cantillationLevel=”1.1.0” ”strong=”b/4242|�������/���
x-morph=”OSHM:HR/Ncmsa” strong=”3384|�������
b” x-morph=”OSHM:HVhi3mp” x-cantillationLevel=”1.1”
”strong=”c/5030|��/���������/��
x-morph=”OSHM:HC/Ncmpc/Sp3fs”
x-cantillationLevel=”1.0” ”strong=”b/3701|������/���
x-morph=”OSHM:HR/Ncmsa” ”strong=”7080|����������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1”
strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.0”
”strong=”8172|������������ x-
morph=”OSHM:HVNi3mp” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.2”
”strong=”i/3808|�����/�� x-morph=”OSHM:HTi/Tn”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”b/7130|���/��������/���
x-morph=”OSHM:HR/Ncmsc/Sp1cp”
x-cantillationLevel=”0.1” ”strong=”3808|����
x-morph=”OSHM:HTn”��������|strong=”935”
x-morph=”OSHM:HVqi3fs” strong=”5921|���/������
a” x-morph=”OSHM:HR/Sp1cp” x-
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cantillationLevel=”0.0” strong=”7451|������
c” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
12 strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D”
x-cantillationLevel=”1.1.0” ”strong=”b/1558|����/������/���
x-morph=”OSHM:HR/Ncmsc/Sp2mp”
x-cantillationLevel=”1.1” ”strong=”6726|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”7704|������� b” x-morph=”OSHM:HNcmsa”
strong=”2790|���������� a” x-morph=”OSHM:HVNi3fs”
x-cantillationLevel=”1” ”strong=”c/3389|�������������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.0”
”strong=”5856|�������� x-morph=”OSHM:HNcmpa”
”strong=”1961|���������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”0.1” ”strong=”c/2022|����/��
x-morph=”OSHM:HC/Ncmsc” strong=”d/1004|�������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”l/1116|�������/�� x-morph=”OSHM:HR/Ncfpc”
strong=”3293|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� �4 ”strong=”c/1961|������/��

x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”1.1.1.0” �

”strong=”b/319|���������/���
x-morph=”OSHM:HR/Ncfsc” ”strong=”d/3117|��������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.1.1” ”strong=”1961|��������
x-morph=”OSHM:HVqi3ms” x-
cantillationLevel=”1.1.0.0” ”strong=”2022|����
x-morph=”OSHM:HNcmsc” strong=”1004|�����
b” x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” strong=”3559|�������
a” x-morph=”OSHM:HVNrmsa” x-
cantillationLevel=”1.1.0” strong=”b/7218|������/���
a” x-morph=”OSHM:HR/Ncmsc”
”strong=”d/2022|�������/��
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.1” ”strong=”c/5375|��������/��
x-morph=”OSHM:HC/VNrmsa”
”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”1.0” ”strong=”m/1389|����������/��
x-morph=”OSHM:HR/Ncfpa” x-
cantillationLevel=”1” strong=”c/5102|��������/��
a” x-morph=”OSHM:HC/Vqq3cp”
strong=”5921|�/������ a” x-
morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”0.0” strong=”5971|��������

a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 2
”strong=”c/1980|��������/���
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”1.2.3.0” strong=”1471|��������
a” x-morph=”OSHM:HNcmpa”
strong=”7227|�������� a”
x-morph=”OSHM:HAampa” x-
cantillationLevel=”1.2.3” ”strong=”c/559|���������/��
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”1.2.2” ”strong=”3212|������
x-morph=”OSHM:HVqv2mp” x-
cantillationLevel=”1.2.1.0” �
”strong=”c/5927|��������/��
x-morph=”OSHM:HC/Vqh1cp”
”strong=”413|��� x-morph=”OSHM:HR”����|strong=”2022”
x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1”
”strong=”c/413|���/�� x-
morph=”OSHM:HC/R”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”1.2.0” ”strong=”430|��������
x-morph=”OSHM:HNcmpc” ”strong=”3290|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
strong=”c/3384|����/������/��
b” x-morph=”OSHM:HC/Vhi3ms/Sp1cp”
x-cantillationLevel=”1.1.0” ”strong=”m/1870|�/���������/��
x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/3212|��������/��
x-morph=”OSHM:HC/Vqh1cp” x-
cantillationLevel=”1.0” ”strong=”b/734|�/�����������/���
x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”m/6726|���������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.1.0” ”strong=”3318|�������
x-morph=”OSHM:HVqi3fs” ”strong=”8451|�������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.1” ”strong=”c/1697|�����/��
x-morph=”OSHM:HC/Ncmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”m/3389|������������/��
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0”� 3 ”strong=”c/8199|�������/��
x-morph=”OSHM:HC/Vqq3ms” x-
cantillationLevel=”1.1.1” ”strong=”996|������
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x-morph=”OSHM:HR” x-cantillationLevel=”1.1.0”
strong=”5971|�������� a” x-
morph=”OSHM:HNcmpa” strong=”7227|��������
a” x-morph=”OSHM:HAampa” x-
cantillationLevel=”1.1” ”strong=”c/3198|���������/��
x-morph=”OSHM:HC/Vhq3ms” x-
cantillationLevel=”1.0.0” strong=”l/1471|�������/��
a” x-morph=”OSHM:HR/Ncmpa”
”strong=”6099|��������� x-
morph=”OSHM:HAampa” x-
cantillationLevel=”1.0” ”strong=”5704|���
x-morph=”OSHM:HR”��������|strong=”7350”
x-morph=”OSHM:HAamsa” x-
cantillationLevel=”1” ”strong=”c/3807|���������/��
x-morph=”OSHM:HC/Vpq3cp”
”strong=”2719|����/���������
x-morph=”OSHM:HNcfpc/Sp3mp” x-
cantillationLevel=”0.2.1.0” ”strong=”l/855|��������/��
x-morph=”OSHM:HR/Ncmpa” x-
cantillationLevel=”0.2.1” ”strong=”c/2595|����/�����������/��
x-morph=”OSHM:HC/Ncfpc/Sp3mp”
x-cantillationLevel=”0.2.0” ”strong=”l/4211|�����������/��
x-morph=”OSHM:HR/Ncfpa” x-
cantillationLevel=”0.2” ”strong=”3808|����
x-morph=”OSHM:HTn”����������|strong=”5375”
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”0.1.0.0” strong=”1471|������
a” x-morph=”OSHM:HNcmsa”
”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”1471
a” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1.0” ”strong=”2719|������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.1” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”�/�����������|strong=”3925”
x-morph=”OSHM:HVqi3mp/Sn”
”strong=”5750|����� x-morph=”OSHM:HD”
x-cantillationLevel=”0.0” ”strong=”4421|����������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0”� 4 ”strong=”c/3427|���������/��
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”1.0.1” ”strong=”376|������
x-morph=”OSHM:HNcmsa” ”strong=”8478|�������
x-morph=”OSHM:HR” ”strong=”1612|��/�������
x-morph=”OSHM:HNcbsc/Sp3ms” x-
cantillationLevel=”1.0.0” ”strong=”c/8478|������/��
x-morph=”OSHM:HC/R” ”strong=”8384|��/���������

x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”1.0” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” ”strong=”2729|���������
x-morph=”OSHM:HVhrmsa” x-
cantillationLevel=”1” strong=”3588|����
a” x-morph=”OSHM:HC”�����|strong=”6310”
x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”0.0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” x-
cantillationLevel=”0.0” ”strong=”1696|��������
x-morph=”OSHM:HVpp3ms” x-
cantillationLevel=”0”� 5 strong=”3588|�����
a” x-morph=”OSHM:HC” x-
cantillationLevel=”1.2.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��������/����|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1.2” ”strong=”3212|��������
x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1.1” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” ”strong=”b/8034|�����/���
x-morph=”OSHM:HR/Ncmsc”
”strong=”430|�/�������� x-
morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”1” ”strong=”c/587|����������/��
x-morph=”OSHM:HC/Pp1cp” x-
cantillationLevel=”0.0.1” ”strong=”3212|�������
x-morph=”OSHM:HVqi1cp” x-
cantillationLevel=”0.0.0” ”strong=”b/8034|����/���
x-morph=”OSHM:HR/Ncmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”430|���/��������
x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”l/5769|�������/��
x-morph=”OSHM:HR/Ncmsa”
”strong=”c/5703|����/�� x-
morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”0”� � 6
”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/1931|�����/�� x-
morph=”OSHM:HTd/Pp3ms” x-
cantillationLevel=”1.1.1.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”622|��������� x-
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morph=”OSHM:HVqh1cs” x-
cantillationLevel=”1.1.0” ”strong=”d/6760|����������/��
x-morph=”OSHM:HTd/Vqrfsa” x-
cantillationLevel=”1.1” ”strong=”c/d/5080|����������/��/��
x-morph=”OSHM:HC/Td/VNrfsa” x-
cantillationLevel=”1.0” ”strong=”6908|�����������
x-morph=”OSHM:HVph1cs” x-
cantillationLevel=”1” strong=”c/834|�������/��
a” x-morph=”OSHM:HC/Tr” x-
cantillationLevel=”0.0” strong=”7489|����������
a” x-morph=”OSHM:HVhp1cs”
x-cantillationLevel=”0”� 7
strong=”c/7760|����������/��
a” x-morph=”OSHM:HC/Vqq1cs”
”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/6760”
x-morph=”OSHM:HTd/Vqrfsa” x-
cantillationLevel=”1.1.0” ”strong=”l/7611|����������/��
x-morph=”OSHM:HR/Ncfsa” x-
cantillationLevel=”1.1” ”strong=”c/d/1972|�����������/��/��
x-morph=”OSHM:HC/Td/VNsfsa” x-
cantillationLevel=”1.0” strong=”l/1471|�����/��
a” x-morph=”OSHM:HR/Ncmsa”
”strong=”6099|������� x-
morph=”OSHM:HAamsa” x-
cantillationLevel=”1” strong=”c/4427|�������/��
a” x-morph=”OSHM:HC/Vqq3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-
cantillationLevel=”0.1.0” ”strong=”b/2022|����/���
x-morph=”OSHM:HR/Ncmsc”
”strong=”6726|�������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”m/6258|�������/�� x-
morph=”OSHM:HR/D” x-cantillationLevel=”0.0”
”strong=”c/5704|���/�� x-
morph=”OSHM:HC/R”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0”� � 8
strong=”c/859|�������/��
a” x-morph=”OSHM:HC/Pp2ms”
”strong=”4026|�������� x-
morph=”OSHM:HNcbsc”�������|strong=”5739”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0.1” strong=”6076|������
a” x-morph=”OSHM:HNcmsc” x-

cantillationLevel=”1.0.0” ”strong=”1323|����
x-morph=”OSHM:HNcfsc”���������|strong=”6726”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”5704|��/������ x-
morph=”OSHM:HR/Sp2ms” ”strong=”857|��������
x-morph=”OSHM:HVqi3fs” x-
cantillationLevel=”1” ”strong=”c/935|������/��
x-morph=”OSHM:HC/Vqq3fs” x-
cantillationLevel=”0.1.1” ”strong=”d/4475|������������/��
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”0.1.0” ”strong=”d/7223|�����������/��
x-morph=”OSHM:HTd/Aafsa” x-
cantillationLevel=”0.1” ”strong=”4467|����������
x-morph=”OSHM:HNcfsc” x-
cantillationLevel=”0.0” ”strong=”l/1323|����/��
x-morph=”OSHM:HR/Ncfsc”��������������|strong=”3389”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
9 ”strong=”6258|������� x-
morph=”OSHM:HD” x-cantillationLevel=”1.1”
”strong=”l/4100|����/��� x-
morph=”OSHM:HR/Ti” ”strong=”7321|���������
x-morph=”OSHM:HVhi2fs” x-cantillationLevel=”1.0”
”strong=”7452|����� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”i/4428|�������/��
x-morph=”OSHM:HTi/Ncmsa” ”strong=”369|�����
x-morph=”OSHM:HTn”��/�����|strong=”b”
x-morph=”OSHM:HR/Sp2fs” x-
cantillationLevel=”0.1.1” strong=”518|����
a” x-morph=”OSHM:HC”���/��������|strong=”3289”
x-morph=”OSHM:HVqrmsc/Sp2fs”
x-cantillationLevel=”0.1.0” ”strong=”6|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC”��/�����������|strong=”2388”
x-morph=”OSHM:HVhp3ms/Sp2fs”
strong=”2427|����� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”k/3205|����������/���
x-morph=”OSHM:HRd/Vqrfsa” x-
cantillationLevel=”0”� 10 strong=”2342|�������
a” x-morph=”OSHM:HVqv2fs” ”strong=”c/1518|������/��
x-morph=”OSHM:HC/Vqv2fs” x-cantillationLevel=”1.0.0”
”strong=”1323|���� x-morph=”OSHM:HNcfsc”���������|strong=”6726”
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x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”���������������|strong=”7812”
x-morph=”OSHM:HVvi2ms” ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.0”
”strong=”l/4639|���������/��
x-morph=”OSHM:HR/Ncmsc”

”strong=”3027|��/������ x-
morph=”OSHM:HNcbdc/Sp2ms” x-
cantillationLevel=”0”� 13 25
KJV:Mic.5.14 ”strong=”c/5428|������������/��
x-morph=”OSHM:HC/Vqq1cs”
”strong=”842|��/����������
x-morph=”OSHM:HNp/Sp2ms” x-
cantillationLevel=”1.0” ”strong=”m/7130|��/���������/��
x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/8045|��������������/��
x-morph=”OSHM:HC/Vhq1cs” x-
cantillationLevel=”0.0” strong=”5892|��/������
b” x-morph=”OSHM:HNcfpc/Sp2ms”
x-cantillationLevel=”0”� 14 26
KJV:Mic.5.15 strong=”c/6213|����������/��
a” x-morph=”OSHM:HC/Vqq1cs” x-
cantillationLevel=”1.0.0.0” ”strong=”b/639|����/���
x-morph=”OSHM:HR/Ncmsa”
”strong=”c/b/2534|������/��/��
x-morph=”OSHM:HC/R/Ncfsa” x-
cantillationLevel=”1.0.0” ”strong=”5359|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������/���|strong=”d/1471
a” x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-
cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”8085|���������
x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”0”� �6 ”strong=”8085|��������

x-morph=”OSHM:HVqv2mp”�����|strong=”4994”
x-morph=”OSHM:HTe” x-

cantillationLevel=”1.1” ”strong=”853|����
x-morph=”OSHM:HTo” strong=”834|������
a” x-morph=”OSHM:HTr”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”559|������ x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1” strong=”6965|�����
b” x-morph=”OSHM:HVqv2ms” x-
cantillationLevel=”0.1.0” ”strong=”7378|�����

23+
24+
25+
26+
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x-morph=”OSHM:HVqv2ms” ”strong=”854|���
x-morph=”OSHM:HR”�������/���|strong=”d/2022”
x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0.1” ”strong=”c/8085|�������������/��
x-morph=”OSHM:HC/Vqi3fp”
”strong=”d/1389|����������/��
x-morph=”OSHM:HTd/Ncfpa” x-
cantillationLevel=”0.0” strong=”6963|��/������
a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0”� 2
”strong=”8085|��������� x-
morph=”OSHM:HVqv2mp” ”strong=”2022|�������
x-morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”������|strong=”7379”
x-morph=”OSHM:HNcbsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/d/386|���������/��/��
x-morph=”OSHM:HC/Td/Aampa” x-
cantillationLevel=”1.0” ”strong=”4146|��������
x-morph=”OSHM:HNcbpc” ”strong=”776|������
x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”7379|�����
x-morph=”OSHM:HNcbsa” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.1.0” strong=”5973|���
a” x-morph=”OSHM:HR”��/������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1” strong=”c/5973|���/��
a” x-morph=”OSHM:HC/R”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”3198|�����������
x-morph=”OSHM:HVti3ms” x-
cantillationLevel=”0”� 3 strong=”5971|�/������
a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.0.0” ”strong=”4100|���
x-morph=”OSHM:HTi”�����������|strong=”6213
a” x-morph=”OSHM:HVqp1cs”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”c/4100|����/��
x-morph=”OSHM:HC/Ti” ”strong=”3811|��/����������
x-morph=”OSHM:HVhp1cs/Sp2ms”

x-cantillationLevel=”1” strong=”6030|������
b” x-morph=”OSHM:HVqv2ms”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 27 Marks
a place where we agree with BHQ
against BHS in reading L. 28
4 strong=”3588|����� a” x-
morph=”OSHM:HC” ”strong=”5927|���/����������
x-morph=”OSHM:HVhp1cs/Sp2ms”
x-cantillationLevel=”1.1.0” ”strong=”m/776|������/��
x-morph=”OSHM:HR/Ncbsc”
”strong=”4714|���������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”c/m/1004|������/��/��
b” x-morph=”OSHM:HC/R/Ncmsc”
”strong=”5650|��������� x-
morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.0” ”strong=”6299|��/����������
x-morph=”OSHM:HVqp1cs/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/7971|���������/��
x-morph=”OSHM:HC/Vqw1cs”
”strong=”l/6440|��/������/��
x-morph=”OSHM:HR/Ncbpc/Sp2ms”
x-cantillationLevel=”0.1” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”4872”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”175|�������� x-
morph=”OSHM:HNp” ”strong=”c/4813|��������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”0”� 5 strong=”5971|�/������
a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.1.3” ”strong=”2142|�����
x-morph=”OSHM:HVqv2ms”�����|strong=”4994”
x-morph=”OSHM:HTe” x-cantillationLevel=”1.1.2”
”strong=”4100|��� x-morph=”OSHM:HTi”��������|strong=”3289”
x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”1.1.1” ”strong=”1111|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”4428|������� x-
morph=”OSHM:HNcmsc” ”strong=”4124|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/4100|���/�� x-
morph=”OSHM:HC/Ti”�������|strong=”6030

27Q
28p We read punctuation in L differently from BHS.
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b” x-morph=”OSHM:HVqp3ms”
”strong=”853|��/���� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1.0” strong=”1109|���������
a” x-morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”���������|strong=”1160”
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”4480|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/7851”
x-morph=”OSHM:HTd/Np” x-
cantillationLevel=”0.2.0” ”strong=”5704|���
x-morph=”OSHM:HR”����������/���|strong=”d/1537”
x-morph=”OSHM:HTd/Np” x-
cantillationLevel=”0.2” ”strong=”4616|��������
x-morph=”OSHM:HR” x-cantillationLevel=”0.1”
”strong=”3045|������� x-
morph=”OSHM:HVqc” x-cantillationLevel=”0.0”
”strong=”6666|��������� x-
morph=”OSHM:HNcfpc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
6 ”strong=”b/4100|�����/���
x-morph=”OSHM:HR/Ti” x-
cantillationLevel=”1.1.0” ”strong=”6923|���������
x-morph=”OSHM:HVpi1cs” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”3721|������� x-
morph=”OSHM:HVNi1cs” x-
cantillationLevel=”1.0” ”strong=”l/430|�������/��
x-morph=”OSHM:HR/Ncmpc”
”strong=”4791|������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”i/6923|����/����������/��
x-morph=”OSHM:HTi/Vpi1cs/Sp3ms”
strong=”b/5930|��������/��
a” x-morph=”OSHM:HR/Ncfpa” x-
cantillationLevel=”0.1” ”strong=”b/5695|���������/���
x-morph=”OSHM:HR/Ncmpa” x-
cantillationLevel=”0.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc”
”strong=”8141|������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
7 ”strong=”i/7521|��������/��
x-morph=”OSHM:HTi/Vqi3ms”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”b/505|��������/���
x-morph=”OSHM:HR/Acbpc”
strong=”352|�������� a” x-

morph=”OSHM:HNcmpa” x-
cantillationLevel=”1.1” ”strong=”b/7233|����������/���
x-morph=”OSHM:HR/Ncfpc” x-
cantillationLevel=”1.0” strong=”5158|��������
a” x-morph=”OSHM:HNcmpc”��������|strong=”8081”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”i/5414|�������/��
x-morph=”OSHM:HTi/Vqi1cs”
”strong=”1060|��/�������� x-
morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”0.1.0” ”strong=”6588|�/���������
x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”0.1” ”strong=”6529|�������
x-morph=”OSHM:HNcmsc” ”strong=”990|�/�������
x-morph=”OSHM:HNcfsc/Sp1cs” x-
cantillationLevel=”0.0” strong=”2403|��������
b” x-morph=”OSHM:HNcfsc”
”strong=”5315|�/�������� x-
morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0”� 8
”strong=”5046|�������� x-
morph=”OSHM:HVhp3ms” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”1.0.0” ”strong=”120|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.0” ”strong=”4100|���
x-morph=”OSHM:HTi”�������|strong=”2896
a” x-morph=”OSHM:HAamsa” x-
cantillationLevel=”1” ”strong=”c/4100|����/��
x-morph=”OSHM:HC/Ti”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1.0”
”strong=”1875|��������� x-
morph=”OSHM:HVqrmsa” strong=”4480|���/�����
a” x-morph=”OSHM:HR/Sp2ms” x-
cantillationLevel=”0.1.1” strong=”3588|�����
b” x-morph=”OSHM:HC” strong=”518|���
b” x-morph=”OSHM:HC”���������|strong=”6213
a” x-morph=”OSHM:HVqc” ”strong=”4941|����������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1.0” ”strong=”c/160|��������/��
x-morph=”OSHM:HC/Ncfsc” strong=”2617|������
a” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1” strong=”c/6800|���������/��
a” x-morph=”OSHM:HC/Vha”
”strong=”3212|������ x-morph=”OSHM:HVqc”
x-cantillationLevel=”0.0” strong=”5973|���
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a” x-morph=”OSHM:HR”��/���������|strong=”430”
x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”0”� � 9
strong=”6963|����� a” x-
morph=”OSHM:HNcmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
strong=”l/5892|�����/�� b” x-
morph=”OSHM:HRd/Ncfsa” ”strong=”7121|��������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1”
”strong=”c/8454|�����������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.0”
”strong=”3372|�������� x-morph=”OSHM:HVqi3ms”
”strong=”8034|��/������ x-
morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”1” ”strong=”8085|���������
x-morph=”OSHM:HVqv2mp” ”strong=”4294|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”c/4310|����/�� x-morph=”OSHM:HC/Ti”
”strong=”3259|��/������� x-morph=”OSHM:HVqp3ms/Sp3fs”
x-cantillationLevel=”0”� 10 ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.1.1”
”strong=”i/786|�����/�� x-morph=”OSHM:HTi/Ta”
x-cantillationLevel=”1.1.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” ”strong=”7563|�������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1”
”strong=”214|��������� x-morph=”OSHM:HNcmpc”
x-cantillationLevel=”1.0” ”strong=”7562|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/374|�������/�� x-
morph=”OSHM:HC/Ncfsc” ”strong=”7332|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”2194|��������� x-morph=”OSHM:HVqsfsa”
x-cantillationLevel=”0”� 11 ”strong=”i/2135|���������/��
x-morph=”OSHM:HTi/Vqi1cs” x-cantillationLevel=”1.0”
”strong=”b/3976|���������/���
x-morph=”OSHM:HR/Ncmdc” ”strong=”7562|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/b/3599|�����/��/��
x-morph=”OSHM:HC/R/Ncmsc” x-
cantillationLevel=”0.0” ”strong=”68|��������
x-morph=”OSHM:HNcfpc” ”strong=”4820|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
12 strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”6223|���/����������
x-morph=”OSHM:HAampc/Sp3fs” x-cantillationLevel=”1.1.0”
”strong=”4390|�������� x-morph=”OSHM:HVqp3cp”

”strong=”2555|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”c/3427|��/���������/��
x-morph=”OSHM:HC/Vqrmpc/Sp3fs”
x-cantillationLevel=”1.0” ”strong=”1696|���������
x-morph=”OSHM:HVpp3cp”��������|strong=”8267”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/3956|�/���������/��
x-morph=”OSHM:HC/Ncbsc/Sp3mp”
x-cantillationLevel=”0.0” strong=”7423|���������
a” x-morph=”OSHM:HNcfsa” ”strong=”b/6310|����/���/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”0”� 13 ”strong=”c/1571|���/��
x-morph=”OSHM:HC/Ta”�������|strong=”589”
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.0”
strong=”2470|����������� a” x-morph=”OSHM:HVhp1cs”
”strong=”5221|��/��������� x-morph=”OSHM:HVhc/Sp2ms”
x-cantillationLevel=”1” ”strong=”8074|���������
x-morph=”OSHM:HVha” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��/����������|strong=”2403
b” x-morph=”OSHM:HNcfpc/Sp2ms”
x-cantillationLevel=”0”� 14 strong=”859|�������
a” x-morph=”OSHM:HPp2ms” ”strong=”398|�������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1.1.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”7646|���������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”1.1” ”strong=”c/3445|���/�������/��
x-morph=”OSHM:HC/Ncmsc/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”b/7130|��/��������/���
x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/5253|�������/��
x-morph=”OSHM:HC/Vhi2ms” x-cantillationLevel=”0.1.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”6403|��������� x-morph=”OSHM:HVhi2ms”
x-cantillationLevel=”0.1” strong=”c/834|�������/��
a” x-morph=”OSHM:HC/Tr” ”strong=”6403|����������
x-morph=”OSHM:HVpi2ms” x-cantillationLevel=”0.0”
”strong=”l/2719|������/�� x-morph=”OSHM:HRd/Ncfsa”
”strong=”5414|������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0”� 15 strong=”859|�������
a” x-morph=”OSHM:HPp2ms” ”strong=”2232|��������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
strong=”7114|��������� b” x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”1” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” ”strong=”1869|���������
x-morph=”OSHM:HVqi2ms”��������|strong=”2132”
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x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”���������|strong=”5480”
x-morph=”OSHM:HVqi2ms” ”strong=”8081|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”c/8492|���������/�� x-
morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”8354|��������� x-morph=”OSHM:HVqi2ms”��������|strong=”3196”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
16 ”strong=”c/8104|�������������/��
x-morph=”OSHM:HC/Vti3ms” x-cantillationLevel=”1.1.1.0”
”strong=”2708|�������� x-morph=”OSHM:HNcbpc”
”strong=”6018|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” ”strong=”c/3605|����/��
x-morph=”OSHM:HC/Ncmsc” x-cantillationLevel=”1.1.0”
”strong=”4639|��������� x-morph=”OSHM:HNcmsc”
strong=”1004|���� b” x-morph=”OSHM:HNcmsc”���������|strong=”256”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/3212|���������/�� x-
morph=”OSHM:HC/Vqw2mp” x-cantillationLevel=”1.0”
”strong=”b/4156|�/�����������/���
x-morph=”OSHM:HR/Ncfpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”4616|��������
x-morph=”OSHM:HR” ”strong=”5414|�/�������
x-morph=”OSHM:HVqc/Sp1cs” ”strong=”853|���/����
x-morph=”OSHM:HTo/Sp2ms” x-cantillationLevel=”0.1.1.0”
”strong=”l/8047|��������/�� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”0.1.1” ”strong=”c/3427|���/���������/��
x-morph=”OSHM:HC/Vqrmpc/Sp3fs”
x-cantillationLevel=”0.1.0” ”strong=”l/8322|���������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.1”
”strong=”c/2781|���������/�� x-
morph=”OSHM:HC/Ncfsc” strong=”5971|�/������
a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”5375|�����������
x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”0”�
�7 ”strong=”480|��������

x-morph=”OSHM:HTj” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-

cantillationLevel=”1.1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”1961|����������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.1.0” ”strong=”k/625|��������/���
x-morph=”OSHM:HR/Ncmpc”�������|strong=”7019”
x-morph=”OSHM:HNcmsa” x-

cantillationLevel=”1.1” ”strong=”k/5955|��������/���
x-morph=”OSHM:HR/Ncfpc” x-
cantillationLevel=”1.0” ”strong=”1210|��������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1” ”strong=”369|����
x-morph=”OSHM:HTn”������������|strong=”811”
x-morph=”OSHM:HNcmsa” ”strong=”l/398|�������/��
x-morph=”OSHM:HR/Vqc” x-
cantillationLevel=”0.1” ”strong=”1063|�����������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.0” ”strong=”183|���������
x-morph=”OSHM:HVpp3fs” ”strong=”5315|�/��������
x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0”� 2
”strong=”6|������ x-morph=”OSHM:HVqp3ms”
”strong=”2623|������� x-
morph=”OSHM:HAamsa” x-
cantillationLevel=”1.1.0” strong=”4480|���
a” x-morph=”OSHM:HR”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-
cantillationLevel=”1.1” ”strong=”c/3477|�������/��
x-morph=”OSHM:HC/Aamsa”
”strong=”b/120|������/��� x-
morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”369|������
x-morph=”OSHM:HTn” x-cantillationLevel=”1”
”strong=”3605|��/������ x-
morph=”OSHM:HNcmsc/Sp3mp” x-
cantillationLevel=”0.1.0” ”strong=”l/1818|�������/��
x-morph=”OSHM:HR/Ncmpa”
”strong=”693|���������� x-
morph=”OSHM:HVqi3mp” x-
cantillationLevel=”0.1” ”strong=”376|������
x-morph=”OSHM:HNcmsa” ”strong=”853|���
x-morph=”OSHM:HTo”���/�������|strong=”251”
x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.0” strong=”6679|���������
a” x-morph=”OSHM:HVqi3mp”
strong=”2764|������ b” x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”0”� 3 strong=”5921|���
a” x-morph=”OSHM:HR”����/���|strong=”d/7451
b” x-morph=”OSHM:HTd/Aamsa”
”strong=”3709|�����������
x-morph=”OSHM:HNcfda” x-
cantillationLevel=”1.2.0” ”strong=”l/3190|��������/��
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x-morph=”OSHM:HR/Vhc” x-
cantillationLevel=”1.2” ”strong=”d/8269|������/��
x-morph=”OSHM:HTd/Ncmsa”
”strong=”7592|������� x-
morph=”OSHM:HVqrmsa” x-
cantillationLevel=”1.1” ”strong=”c/d/8199|��������/��/��
x-morph=”OSHM:HC/Td/Vqrmsa” x-
cantillationLevel=”1.0” ”strong=”b/7966|���������/���
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1” 29 Marks a
place where we agree with BHQ
against BHS in reading L. 30 31
strong=”c/d/1419|��������/��/��
a” x-morph=”OSHM:HC/Td/Aamsa”
x-cantillationLevel=”0.0.1” ”strong=”1696|�������
x-morph=”OSHM:HVqrmsa” ”strong=”1942|�������
x-morph=”OSHM:HNcfsc” ”strong=”5315|��/�������
x-morph=”OSHM:HNcbsc/Sp3ms” x-
cantillationLevel=”0.0.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-
cantillationLevel=”0.0” ”strong=”c/5686|��/�����������/���
x-morph=”OSHM:HC/Vpw3mp/Sp3fs”
x-cantillationLevel=”0”� 4
strong=”2896|�/������ a” x-
morph=”OSHM:HAamsc/Sp3mp”
”strong=”k/2312|������/���
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”3477|�������
x-morph=”OSHM:HAamsa” x-
cantillationLevel=”1.0” ”strong=”m/4534|����������/��
x-morph=”OSHM:HR/Ncfsa” x-
cantillationLevel=”1” ”strong=”3117|�����
x-morph=”OSHM:HNcmsc” ”strong=”6822|���/���������
x-morph=”OSHM:HVprmpc/Sp2ms”
x-cantillationLevel=”0.1.0” ”strong=”6486|���/����������
x-morph=”OSHM:HNcfsc/Sp2ms”
”strong=”935|������ x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”0.1” ”strong=”6258|�������
x-morph=”OSHM:HD” ”strong=”1961|��������
x-morph=”OSHM:HVqi3fs” x-
cantillationLevel=”0.0” ”strong=”3998|�/����������
x-morph=”OSHM:HNcfsc/Sp3mp”
x-cantillationLevel=”0”� 5

”strong=”408|��� x-morph=”OSHM:HTn”�������������|strong=”539”
x-morph=”OSHM:HVhj2mp” ”strong=”b/7453|�����/��
x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”1.1” ”strong=”408|����
x-morph=”OSHM:HTn”������������|strong=”982”
x-morph=”OSHM:HVqj2mp” x-
cantillationLevel=”1.0” strong=”b/441|��������/���
a” x-morph=”OSHM:HR/Aamsa” x-
cantillationLevel=”1” ”strong=”m/7901|����������/��
x-morph=”OSHM:HR/Vqrfsc”
”strong=”2436|��/������ x-
morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”0.1” ”strong=”8104|�������
x-morph=”OSHM:HVqv2ms” x-
cantillationLevel=”0.0” ”strong=”6607|��������
x-morph=”OSHM:HNcmpc”��/�����|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0”� 6
strong=”3588|����� a” x-
morph=”OSHM:HC”�����|strong=”1121
a” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.2.0” strong=”5034|���������
a” x-morph=”OSHM:HVprmsa”
”strong=”1|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2” ”strong=”1323|�����
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.1.0” strong=”6965|������
b” x-morph=”OSHM:HVqrfsa”
”strong=”b/517|��/������/�� x-
morph=”OSHM:HR/Ncfsc/Sp3fs” x-
cantillationLevel=”1.1” ”strong=”3618|��������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”1.0” ”strong=”b/2545|��/�������/���
x-morph=”OSHM:HR/Ncfsc/Sp3fs”
x-cantillationLevel=”1” ”strong=”341|��������
x-morph=”OSHM:HVqrmpc” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.0” ”strong=”376|���������
x-morph=”OSHM:HNcmpc” strong=”1004|��/�����
b” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 7
”strong=”c/589|������/�� x-
morph=”OSHM:HC/Pp1cs” x-

29Q
30n Marks an anomalous form.
31p We read punctuation in L differently from BHS.
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cantillationLevel=”1.1.0” ”strong=”b/3068|������/���
x-morph=”OSHM:HR/Np” ”strong=”6822|���������
x-morph=”OSHM:HVpi1cs” x-
cantillationLevel=”1.1” ”strong=”3176|����������
x-morph=”OSHM:HVhh1cs” x-
cantillationLevel=”1.0” ”strong=”l/430|�������/��
x-morph=”OSHM:HR/Ncmpc”
”strong=”3468|�/�������� x-
morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1” ”strong=”8085|���/����������
x-morph=”OSHM:HVqi3ms/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”430|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0”� 8
”strong=”408|���� x-morph=”OSHM:HTn”�������������|strong=”8055”
x-morph=”OSHM:HVqj2fs” ”strong=”341|��/����������
x-morph=”OSHM:HVqrfsc/Sp1cs” x-
cantillationLevel=”1.1.0” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”5307|�����������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.0” strong=”6965|���������
b” x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”3427”
x-morph=”OSHM:HVqi1cs” ”strong=”b/2822|��������/���
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”0.1” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”216|����� x-morph=”OSHM:HNcbsa”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� � 9
”strong=”2197|������ x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”5375|�������� x-
morph=”OSHM:HVqi1cs” x-
cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”2398|���������
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.0” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1” ”strong=”5704|����
x-morph=”OSHM:HR” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7378|�������

x-morph=”OSHM:HVqi3ms” ”strong=”7379|��/�����
x-morph=”OSHM:HNcbsc/Sp1cs” x-
cantillationLevel=”0.2.0” strong=”c/6213|�������/��
a” x-morph=”OSHM:HC/Vqp3ms”
”strong=”4941|�/�����������
x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”0.2” ”strong=”3318|���/���������
x-morph=”OSHM:HVhi3ms/Sp1cs”
”strong=”l/216|�����/�� x-
morph=”OSHM:HRd/Ncbsa” x-
cantillationLevel=”0.1” ”strong=”7200|��������
x-morph=”OSHM:HVqi1cs” x-
cantillationLevel=”0.0” ”strong=”b/6666|��/��������/���
x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”0”� 10 ”strong=”c/7200|������/��
x-morph=”OSHM:HC/Vqi3fs” ”strong=”341|��/����������
x-morph=”OSHM:HVqrfsc/Sp1cs” x-
cantillationLevel=”1.2.0” ”strong=”c/3680|��/��������/��
x-morph=”OSHM:HC/Vpi3fs/Sp3fs”
”strong=”955|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.2” ”strong=”d/559|��������/��
x-morph=”OSHM:HTd/Vqrfsa”
”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”346|��/�����
x-morph=”OSHM:HTi/Sp3ms” x-cantillationLevel=”1.0”
”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”430|��/��������� x-
morph=”OSHM:HNcmpc/Sp2fs” x-
cantillationLevel=”1” strong=”5869|��/�����
a” x-morph=”OSHM:HNcbdc/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”7200|�������������
x-morph=”OSHM:HVqi3fp” ”strong=”b|��/����
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.1”
”strong=”6258|������� x-morph=”OSHM:HD”
x-cantillationLevel=”0.0.0” ”strong=”1961|����������
x-morph=”OSHM:HVqi3fs” ”strong=”l/4823|��������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0”
”strong=”k/2916|�����/��� x-
morph=”OSHM:HR/Ncmsc” ”strong=”2351|��������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
11 ”strong=”3117|����� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”l/1129|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”1447|��/����������
x-morph=”OSHM:HNcmpc/Sp2fs” x-
cantillationLevel=”1” ”strong=”3117|�����
x-morph=”OSHM:HNcmsa” ”strong=”d/1931|�����/��
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x-morph=”OSHM:HTd/Pp3ms” x-
cantillationLevel=”0.0” ”strong=”7368|�������
x-morph=”OSHM:HVqi3ms”�����|strong=”2706”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
12 ”strong=”3117|����� x-morph=”OSHM:HNcmsa”
”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”1.1.0” ”strong=”c/5704|��/������/��
x-morph=”OSHM:HC/R/Sp2ms” ”strong=”935|�������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1”
strong=”l/4480|�������/�� a” x-
morph=”OSHM:HR/R” ”strong=”804|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”c/5892|������/�� b” x-
morph=”OSHM:HC/Ncfpc” ”strong=”4692|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”c/l/4480|�������/��/��
a” x-morph=”OSHM:HC/R/R” ”strong=”4693|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”�������|strong=”5104”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”c/3220|����/�� x-morph=”OSHM:HC/Ncmsa”
”strong=”m/3220|�����/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”c/2022|����/��
x-morph=”OSHM:HC/Ncmsa” ”strong=”d/2022|����/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
13 ”strong=”c/1961|��������/��
x-morph=”OSHM:HC/Vqq3fs” ”strong=”d/776|������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.0.0”
strong=”l/8077|���������/�� a”
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��/�����������|strong=”3427”
x-morph=”OSHM:HVqrmpc/Sp3fs”
x-cantillationLevel=”1” ”strong=”m/6529|�������/��
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0”
”strong=”4611|����/����������
x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0”� � 14 strong=”7462|������
b” x-morph=”OSHM:HVqv2ms” strong=”5971|���/�����
a” x-morph=”OSHM:HNcmsc/Sp2ms”
”strong=”b/7626|��/��������/��
x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”1.2.1” ”strong=”6629|�����
x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.2.0”
”strong=”5159|��/����������
x-morph=”OSHM:HNcfsc/Sp2ms” x-
cantillationLevel=”1.2” ”strong=”7931|���������

x-morph=”OSHM:HVqrmsc” ”strong=”l/910|������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1”
strong=”3293|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”b/8432|������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”3760|���������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
strong=”7462|�������� b” x-morph=”OSHM:HVqi3mp”
”strong=”1316|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” ”strong=”c/1568|��������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
”strong=”k/3117|�����/��� x-morph=”OSHM:HR/Ncmpc”
”strong=”5769|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 15 ”strong=”k/3117|�����/���
x-morph=”OSHM:HR/Ncmpc” ”strong=”3318|���/�����
x-morph=”OSHM:HVqc/Sp2ms” x-cantillationLevel=”1.0”
”strong=”m/776|������/�� x-morph=”OSHM:HR/Ncbsc”
”strong=”4714|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”7200|����/�������
x-morph=”OSHM:HVhi1cs/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”6381|�����������
x-morph=”OSHM:HVNrfpa” x-cantillationLevel=”0”�
16 ”strong=”7200|�������� x-morph=”OSHM:HVqi3mp”
strong=”1471|������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1.0” ”strong=”c/954|���������/��
x-morph=”OSHM:HC/Vqi3mp” x-cantillationLevel=”1.1”
”strong=”m/3605|�����/�� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.0” ”strong=”1369|�/������������
x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”1”
strong=”7760|���������� a” x-morph=”OSHM:HVqi3mp”
”strong=”3027|���� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”6310”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”241|����/������� x-morph=”OSHM:HNcfdc/Sp3mp”
x-cantillationLevel=”0.0” strong=”2790|��������������
b” x-morph=”OSHM:HVqi3fp” x-cantillationLevel=”0”�
17 ”strong=”3897|���������� x-morph=”OSHM:HVpi3mp”
”strong=”6083|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2.0” ”strong=”k/5175|��������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.2”
strong=”k/2119|��������/��� a”
x-morph=”OSHM:HR/Vqrmpc” ”strong=”776|������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.1”
”strong=”7264|����������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1.0” ”strong=”m/4526|����/��������������/��
x-morph=”OSHM:HR/Ncfpc/Sp3mp”
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x-cantillationLevel=”1” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”430|����/��������
x-morph=”OSHM:HNcmpc/Sp1cp” x-
cantillationLevel=”0.1.0” ”strong=”6342|����������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.1”
”strong=”c/3372|���������/�� x-
morph=”OSHM:HC/Vqi3mp” x-cantillationLevel=”0.0”
strong=”4480|���/������ a” x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0”� 18 ”strong=”4310|���
x-morph=”OSHM:HTi”�����|strong=”410”
x-morph=”OSHM:HNcmsa” ”strong=”3644|��/�������
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.1.1”
”strong=”5375|������� x-morph=”OSHM:HVqrmsa”
”strong=”5771|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1.0” strong=”c/5674|������/��
a” x-morph=”OSHM:HC/Vqrmsa” strong=”5921|���
a” x-morph=”OSHM:HR”���������|strong=”6588”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”l/7611|����������/��
x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.0”
”strong=”5159|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”3808|���
x-morph=”OSHM:HTn”����������|strong=”2388”
x-morph=”OSHM:HVhp3ms” ”strong=”l/5703|����/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”639|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”2654
a” x-morph=”OSHM:HVqp3ms” strong=”2617|������
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”

”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0”� 19 ”strong=”7725|��������
x-morph=”OSHM:HVqi3ms” ”strong=”7355|���/����������
x-morph=”OSHM:HVpi3ms/Sp1cp” x-
cantillationLevel=”1.1” ”strong=”3533|����������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0”
”strong=”5771|���/�����������
x-morph=”OSHM:HNcbpc/Sp1cp” x-cantillationLevel=”1”
”strong=”c/7993|�����������/��
x-morph=”OSHM:HC/Vhi2ms” x-cantillationLevel=”0.0.0”
”strong=”b/4688|���������/���
x-morph=”OSHM:HR/Ncfpc” ”strong=”3220|����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�/�����������|strong=”2403
b” x-morph=”OSHM:HNcfpc/Sp3mp”
x-cantillationLevel=”0”� 20 ”strong=”5414|��������
x-morph=”OSHM:HVqi2ms” ”strong=”571|������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.0”
”strong=”l/3290|���������/�� x-
morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
strong=”2617|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”l/85|����������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
strong=”834|������ a” x-morph=”OSHM:HTr”���������������|strong=”7650”
x-morph=”OSHM:HVNp2ms” ”strong=”l/1|���/��������/��
x-morph=”OSHM:HR/Ncmpc/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”m/3117|����/���
x-morph=”OSHM:HR/Ncmpc” strong=”6924|������
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�


